
Problem 3. 

 

The transmitted sequence is: 1, 5, 2, 1, 3, 5, 9, 3, 1, 4, 7, 15, 8, 3, 13, 4, 9, 7, 14. 

 

Problem 4. 

 

The decoded message is this hat is his hat it is his hat. 



Problem 5. 

 
The decoded message is ratatatat a rat at a rat. 

 

Problem 6. 

The encoded sequence is: <0, 0, C(b)> <0, 0, C(a)> <0, 0, C(r)> <1, 1, C(a)> 

<0, 0, C(y)> <5, 2, C(∆)> <9, 3, C(∆)> <4, 1, C(y)> <7, 4, C(r)> <3, 1, C(y)> 

<12, 4, C(a)> 

 

Problem 8. 

Initial dictionary:                                   Final dictionary: 

 

Received sequence: 4, 5, 3, 1, 2, 8, 2, 7, 9, 7, 4 

 


